mean # PXL hits vs eta

<pixel hits>

Ratio

5

=

0.95

.n.ﬂ++++$+++¢.n.m-w....wm..¢+++++++mm.

3

0 1 2

n

| mean # PXL Layers with measurement vs eta

<pixel layers>

o

w
w Ul

1.5

0.5

.....................................................................

.....................................................................

—=— DQM_TT__ORIGINAL

mean # STRIP hits V|

<strip hits>

Ratio

—— DQM_TT__MODIFIED_propToPlane_PRVersionFINAL2

PRVersionFINAL3

10

[ R R

—— DQM_TT__MODIFIED_propToPlane_|

1.

0.95

w

<strip layers>

Ratio

(*2)

TRYA)

0.95

=
TT T T[T T 1T




	Contents
	Page 1


